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General Instructions:

1 There are 34 questions in the question paper.

2. All questions are compulsory

3. Question nos. 1 to 20 carrying 1 mark each.

4 Question nos. 21-24 are short answer type—| questions
carrying 3 marks each.

5. Question nos. 25-30 are short answer type—Il questions carrying 4

marks each.
6. Questionnos.31-34 are long answer type questions carrying 6 marks each.
7 There is no overall choice. However, an internal choice has been

provided in 2 questions of three marks, 2 questions of four marks
and 2 questions of six marks.
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Due to which characteristic of business there is always a possibility of losses being

incurred, despite the best efforts put into the business:

a) Uncertainty of returns

b) Production or procurement of goods and services.

c) Economic activity

d) Profit earning.
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Statement-I Import trade refers to purchase of goods from one country for the
purpose of selling them to another country.

Statement-Il Export trade refers to purchase of goods from one country for the

purpose of selling them to another country.




Choose the correct option from the options given below:
a. Statement | is true and Il is false

b. Statement Il is true and | is false

c. Both the statements are true

d. Both the statements are false
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This type of cooperative society is set up with the aim of eliminating middlemen
a) Producer"s Cooperative Society

b) Marketing Cooperative Society

¢) Consumer"s Cooperative Society

d) Farmer"s Cooperative Society
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Identify the type of retailer illustrated by the picture given above.

(a) Departmental store
(b) Chain Stores
(c) Mail-order business

(d) Tele-shopping
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Which of the following has the power of the government and the considerable
amount of operating flexibility of private enterprises?

(a) Departmental Undertakings
(b) Statutory Corporations

(c) Government companies




(d) All of the above
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Which of the following is true about statutory corporations?

(a) Statutory corporations are public enterprises that come into existence by a special
act of the parliament

(b) Statutory corporations are subject to the same accounting and audit procedures
as are applicable to government departments

(c) Statutory enterprises are funded directly by the government treasury

(d) The employees of statutory enterprises are civil servants
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Suresh Chand and Sons owns a handicraft business. They want to be acquainted with
online payment mechanism system. Guide them of the various options.

(i) Payment done using UPI (a) Credit card
(ii) Transfer money electronically from (b) Cash on delivery Bank
account.

(iii) Goods bought on credit. (c) BHIM




(iv) Payment done after receiving the (d) Debit card commodity.
a) i-c, ii-d, iii- a, iv- b
b) i-c, iii-d, ii- a, iv- b
c) i-c,ii-d, iv- a, iii- b
d) ii-c, i-d, iii- a, iv- b
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Which of the following is not applicable in a life insurance contract?

(a) Conditional contract
(b) Unilateral contract
(c) Indemnity contract
(d

) None of the above
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A firm using a network of computers for placing orders, monitoring production,
delivery of goods and making payments to its supplier firm is an example of

a) B 2 B commerce

b) B 2 C commerce

c) C 2 C commerce

d) Intra-B commerce
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Right to information about the products produced is the responsibility towards which
interest group?

a) Employees

b) government

c) consumer




d) shareholders
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e-bussiness does not include.?
a) a business interaction with its supplier .
b) a business interaction with its customer .
c) Interaction among the various departments within the business.
d) interaction among the geographically dispersed unit of the business.
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Statement-I Financing through equity shares is less costly.
Statement-Il Equity shares carry voting rights.
Choose the correct option from the options given below:

a. Statement lis true and Il is false
b. Statement Il is true and | is false
c. Both the statements are true
d. Both the statements are false
qu YT TT/TH ] YoTIq:T o ® 99 Dol
Y1? [T] 1956
13. [@f] 1955
[X1 1953
[S1] 1954
National small industries corporation was set up in the year
[a]1956
[b] 1955
[c] 1953
[d] 1954
wﬁﬂimm ST UG ©
NEH
14. %%%3
[H:1Re8
Hi:::::zTai[Bﬁ]W
hUsT
Literary work is protected under
[a]copy right
[b]Patent

[c]trade mark
[d]crowd funding
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A includes shape, pattern and arrangement of lines or color combination
that is applied to any article
[a] Design
[b]copy right
[c]patent
[d]Trade mark
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Which of the following statements is correct?
Load on branches of the banks cannot be reduced by e-banking.

a
b. Life insurance is based on the principle of indemnity.

o

Services are intangible in nature.
E-banking provides communication services not through internet .

o
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Which type of GST is payable on intra state supply of goods and services?
a. CGST
b. IGST
c. SGST
d. a and c both
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World Trade Organization was founded on ------------------
(a)11Nov.2005

(b) 11Dec.2005

(c)11 Jan.2015

(d)11Dec 2015
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Identify the alternative which is not the objective of World Trade Organization.

(a) To ensure reduction of tariffs and other trade barriers imposed by different countries.
(b) To facilitate the optimal use of the world’s resources for sustainable development.

(c )To promote an integrated and more viable and durable trading system.

(d) To promote an orderly international monetary system
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Read the following statements: Assertion (A) and Reason(R).

Choose the correct alternative from those given below:




ASSERTION (A): Countries cannot manufacture the same level of quality and at the same
cost.

REASONING (R): This is due to the unequal distribution of natural resources and
differences in productivity levels among different geographical places.

a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A).

b) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct
explanation of Assertion (A)

c) Assertion (A) is true but Reason (R) is False

d) Assertion (A) is False but Reason (R) is True
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What were the different types of Hundi in use by traders in ancient times?
OR

Explain any two business activities which are auxiliaries to trade.
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State the meaning of Corporate Social Responsibility as per the Companies Act
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How would you differentiate between street traders and street shops?

itinerant traders have been an integral part of internal trade in India. Analyse the
reasons for their survival in spite of competition from large-scale retailers.
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24. |What is a bill of lading? How does it differ from the bill of entry?
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TS T & af S-Td<Y 8 What are the benefits of entering into a joint venture and
public private partnership?OR
Why is the government company form of organisation preferred to other types in
public sector?
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26. |Profit maximization is the sole objective of a business. Do you agree?explam.
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Explain the various elements of business ethics.
OR
What steps can an enterprise take to protect the environment from the dangers
of poIIution?
e FpTH B MA@ ST Foldeold B dd §hoT 3R 89 AR HRA|
28. [What is the difference between the internal and external sources of raising

funds? Explain.
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29. What do you mean by owner’s fund? When it is not suitable?
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30. “International business is more than international trade”. Comment.
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Uma, a village girl, comes to Delhi to visit her relatives. She goes with her cousin to a
shop, which is centrally located. She becomes astonished by the varieties of goods
which are sold here.

(a) Identify this type of shop.
(b) Quoting lines from the above paragraph describe two characteristics of the shop.
(C )Advantages of such shops.
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How do small scale industries contribute to the socio-economic development of
India?

OR

Discuss the problems faced by small scale industries.
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Explain the principles of insurance briefly with suitable examples.
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Discuss the characteristics, merits and limitations of cooperative form of
organisation. Also describe briefly different types of cooperative societies.

OR

Kiran is a sole proprietor. Over the past decade, her business has grown from
operating a neighbourhood corner shop selling accessories such as artificial
jewellery, bags, hair clips and nail art to a retail chain with three branches in the
city. Although she looks after the varied functions in all the branches, she is
wondering whether she should form a company to better manage the business. She
also has plans to open branches countrywide.

(a) Explain two benefits of remaining a sole proprietor
(b) Explain two benefits of converting to a joint stock company
(c) What role will her decision to go nationwide play in her choice of form of the
organisation?

(d) What legal formalities will she have to undergo to operate business as a
company?







